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Question 1 of 52

Choose the correct answer for each question. (20 Marks)



In 6 890 731, the digit 9 is in the ___ place.

A) thousands 

B) ten thousands 

C) hundred thousands 

D) millions 

Question 2 of 52

Find the sum of all the factors of 12.

A) 12

B) 16

C) 21

D) 28
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Which one of the following figures shows a pair of perpendicular lines?

A)

B)

C)

D)
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Question 4 of 52

Express 5 tenths as a decimal.

A) 50

B) 5

C) 0.5

D) 0.05

Question 5 of 52

A)

B)

C)

D)
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Question 6 of 52

Which one of the following is the same as 9÷4?

A) 4÷9

B)

C)

D)

Question 7 of 52

Which one of the following is likely to be the mass of a pupil's school bag?

A) 5g

B) 5kg

C) 50g

D) 50kg

Question 8 of 52

Jun Jie bought a packet of drink for $1.50. He gave the stall owner a $5 note and received
the changed of 50 cent coins. How many 50 cent coins did he receive?

A) 13

B) 10

C) 3

D) 7
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Question 9 of 52

A) CF

B) BF

C) BD

D) AD

Question 10 of 52

What is the missing number?


12 : 15 = 20 : _____

A) 25

B) 23

C) 16

D) 5
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Question 11 of 52

Mrs Goh bought 5 packets of cookies. There were 15 cookies in each packet. She repacked
some of the cookies into 9 bags of 6. How many cookies were not packed?

A) 75

B) 54

C) 30

D) 21

Question 12 of 52

A) 32

B) 18

C) 8

D) 6
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Question 13 of 52

A) 2:3:5

B) 2:5:3

C) 5:2:3

D) 5:3:2

Question 14 of 52

Paraveen bought a total of 120 pink, yellow and green beads to make a necklace. There
were 6 more pink beads than yellow beads.There were 4 times as many green beads as
yellow beads. How many yellow beads did he buy?

A) 19

B) 21

C) 76

D) 84
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Question 15 of 52

A) 1080 g 

B) 1100 g 

C) 1980 g

D) 2385 g 

Question 16 of 52

round 327 954 to the nearest hundred.

Question 17 of 52
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Question 19 of 52

Question 20 of 52

Edward ran 3200m while Felice ran 2km 400m. What was the total distance that they ran
altogether?
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Question 21 of 52

Mrs Lim was thinking of a number which was between 30 and 50. When she divided the
number by 5, she had a remainder of 3. When she divided the number by 7 , she had a
remainder of 1. What was the number she was thinking of?

Question 22 of 52

Question 23 of 52

The ratio of the length of a rectangle to its breadth is 3:2. The breadth of the rectangle is
6cm. What is the area of the rectangle?

Question 24 of 52

The ratio of the amount of money that Andy had to the amount of money that Bobby had is
4:9. Bobby has 3 times as much money as Calvin. Calvin has $60. How much money does
Andy have?
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Question 25 of 52

Question 26 of 52

Rodney is 24 years old this year. He is thrice as old as Mervin. In how many years' time will
Rodney be twice Mervin's age?
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Question 27 of 52

Please type "done" to proceed to the next question.

Question 28 of 52
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Question 29 of 52



Joshua is able to watch Ah Girls to Women from the start to the end.

A) True 

B) False 

C) Not possible to tell

Question 30 of 52

Joshua will be able to choose between two movies if he had asked his father to pick him up
at 5.10pm

A) True

B) False

C) Not possible to tell
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Question 31 of 52

A train travelled from Station A to Station C. There were some passengers on board the train
when it left Station A. At Station B, 13 passengers boarded the train while 57 passengers
alighted the train. Finally at Station C, 128 passengers boarded the train. The number of
passengers on the train when it left Station C was twice the number of passengers in the
train when it left Station A. How many passengers were on board on the train when it left
Station A?

Question 32 of 52

Hui Min saved $7 per week, Ted saved 3 times as much as Hui Min per week. How much did
they save in 15 weeks altogether?

Question 33 of 52

Please type "done" to proceed to the next question 
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Question 34 of 52

Question 35 of 52

The ratio of the number of cards that Joanne had to the number of cards the 

Korelle had was 11:7. Korelle had 308 cards. How many cards did Joanna and Korelle have
altogether?

Question 36 of 52

There were a total of 460 boys and girls in the theatre at first. 97 boys left and 12 girls
entered the theatre. There were then four times as many boys as girls. How many bots were
there in the theatre in the end?

Question 37 of 52

Uma and LiTing had an equal amount of money at first. After Uma gave LiTing $40, LiTing
had 5 times as much money as Uma. How much money did both Uma and LiTing have
altogether?
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Question 38 of 52

Mrs Koh made some fruit punch by adding 380 ml of syrup to 1L 90ml of water. She poured
the fruit punch into 7 cups equally. What was the amount of fruit punch in each cup?

Question 39 of 52

Question 40 of 52

b) Name a line that is parallel to line AD
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Question 42 of 52

Question 43 of 52
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Question 45 of 52

Question 46 of 52
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Question 47 of 52

Mrs Soh gave Kelvin a total of 660 coins and $2 notes. The ratio of the number of coins to
the number of $2 dollar notes was 7:5.



a) How many coins were there?

Question 48 of 52
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Question 49 of 52

Question 50 of 52

B) How many pupils can be seated at 9 such tables?

Question 51 of 52

c) How many table swill be needed to seat 176 pupils?
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